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1.  Subtract 82,508 by 25,629. 

2. Mrs Hextall needs to order some new whiteboard pens. She orders 18 boxes. Each box contains 24 pens. How many pens are ordered?
 
3. There are 13,561 people in Wembley on Saturday and 45,761 on Tuesday. How many people visited the stadium on Monday and Tuesday?

4.  Daniel jogs 1,362m and runs 1,880m. Find the total distance covered.

5. There are 5,718 video DVDs in Mr. Miller’s shop and 2,199 audio DVDs. Find the total number of DVDs in Mr Miller’s shop.

6. Ben loves bouncy balls. He has been so good this term that Mr Jones buys him a packet of 19 balls. Ben goes out to play and bounces each ball 46 times. How many times were the balls bounced altogether?

7. Clara withdrew £6,789 from her account. The initial amount in her account was £8,790. Find the balance left after the withdrawal.

8.  Cathy scored 2,560 points on level 2 in a video game. She then scored 1,254 points on level 3. How many points did she score in level 2 and 3? 

9.  Jess bought a brand new car for £26,086. The estimated value of the car after 5 years is £15,990. If she sells the car after 5 years, how much less money would she have?

10. Lewis takes a train to London. Each train carriage can carry 66 passengers. The train as 13 carriages. What is the total number of passengers that the train can carry?

11. Sarah tickled Monty the guinea pig 64 times in 18 days. How many tickles per day did Monty receive?

